scratch/run10102112.12btowW.hist.root, page=1, Mon Apr 13 00:25:11 2009

L2 COMPUTE time per input event | Entries 797845 rate of COMPUTE Entries 797845 | total events. 0=anylnput 10=anyAccept 11-normalAccept 12=rdAcGept Entries 1660423
x10 Mean 14.44 Mean 1004 Mean 1.146
%) F . ~ 6 . . N
= E . . . . RMS 9.218 T RuS 5133 e RMS 1152
220 -2 T H =400 10 : : : :
o F . . Underflow 0 ) Undertiow 3 . . “Junderfiow 0
200 ]--ien R Peeesdees < . p
> F overflow 247 350 Overflow  9.0120:04 : Joverfiow 0
180 > :
160 0] R ELEEREE EERERE EERS EERCRER] EXk 10° . .
140 P 11] O S S S SO S S
120
100 200 .
80 150 107 RO
60 E 100
a0
20f}H- eebeeand : B 2 A R 10° - L
Y ML L T T TP TP T Y A I I TN I I P I P
0 20 40 60 80 100 120 140 160 180 0 200 400 600 800 10001200 1400 1600 1800 2000 0 16 18
x: COMPUTE time (CPU kTics) x: time in this run (seconds) 6=staleData
L2 DECISION time per input event | Entries 47679 W Btow delTime (decision-compute) | Entries 7650 | W Btow-compute: # btow towers w/ energy /event Entries 797845
Mean 2.465 Mean 2146 s Mean 9335
1‘2000 o RMS 1739 3b...... P e e we e +{rms 88.61 ‘3-0 3 RMS 8.38
[ F . T . . . H H >
1§000 L Underflow 0 r . Underflow 0 ? Underflow 0
=S Overflow 13 25 . . . . +|overfiow 7503 I overflow 0
: Sk : : H 10°
12000 O CEEEE H + : E
[ SF . [
10000 -+ - e s e dem e b fee e e : 3 10°F
8000 [« -f = orrmrmde b e e e e D : 15[ F
F : : .
6000 [ - e e e { L 10°F
T O e E r
: L 10
: 05F E
2000 f—- - f{- g me v . F F .
0 ....i....i.... ....i....i 0- 1 1 vaadssssibieeebenlnnng '.i'.r[l.'r.'.'l'.'.'.'.".'.'.'.
15 20 25 30 35 0 50 100 150 200 250 300 0O 10 20 30 40 50 60 70 80 90 100
x: DECISION time (CPU kTics) kTicks x: # BTOW towers
| L2 COMP+DECI time per input event | Entries 47679 rate of ACCEPT Entries 8450 W-BTOW-accepted: acc seed tower ET>5.00 GeV Entries 7650
Mean 1856 Mean 996.8 Mean 2434
E E RMS 9.434 ) SRR RMS 575.2 RMS
%)00 - Underflow 0 2 : Underflow 0 Underflow
> F overflow 26 210 . Joverfiow 604 overflow
6000 |- >
5000 :— ------------- 8 I
4000 :— -------------- !
E 6 I
3000 :— ------------- I
E 4 f
2000 :— ......... I
E 2 il |
1000 [ o« b e e et e I
5 |
OC 20 40 60 80 100 120 140 160 180 00 200 400 600 800 10001200 1400 1600 1800 2000 500 1000 1500 2000 2500 3000 3500 4000 4500 50

x: COMP+DECIS time (CPU kTics)

X: time in this run (seconds)

BTOW softID




scratch/run10102112.12btowW.hist.root, page=2, Mon Apr 13 00:25:11 2009

W Btow-accepted: seeds |

Entries 7650
Mean 12.36

10? =

10 =:: 1"

Seed ET (GeV)

Mon Apr 13 00:25:11 2009

0 40 50 60 70

| W Btow-accepted: clusters |

.......................................

.................................................

10?

10

Entries 7650
Mean 16.25
RMS  4.631

..........

.................................

10 20 30 40 50 60 70

Integral 7643

Cluster ET ET(GeV)

W Btow-accepted: cluster shape |
Entries 7650

103 Mean
RMS

20.27 |5

10%

10E

60 80

76.94 |G o

Integral 7650 |

100

100*Seed Et/Cluster Et




3, Mon Apr 13 00:25:11 2009

Entries

7650

scratch/run10102112.12btowW.hist.root, page

W Btow accepted, seed tower Et>5.00 GeV

_ﬁ________ it _f__ iy

_ﬁ__.____r_ ___

#. ﬁ _f,_E_H__. .4 ,
_ ."___"_" _."_____ __.__"_____ ____ _._____ _____"__ o[
Wernn

___5
1

30

o
To10es gL ~ uiq yd :A

eta bin [-1,+1]



scratch/run10102112.12btowW.hist.root, page=4, Mon Apr 13 00:25:11 2009

W-BTOW-accepted: acc seed tower ET>5.00 GeV |

22
20

18 =

Integral 356

200
BTOW softiD

Integral 347

BTOW softiD

Integral 301

o N A O ®

BTOW softiD

W-BTOW-accepted: acc seed tower ET>5.00 GeV

22
20
18

Integral 232

BTOW softID



scratch/run10102112.12btowW.hist.root, page=5, Mon Apr 13 00:25:11 2009

W-BTOW-acce

c seed tower ET>5.00 GeV. |

= o o o T S | Integral

261

...................................................................................................................................................

W-BTOW-acce

276

..................................................................................................................................................

......................................................................................

..........................................................................................................

........................................................................................................

289

..........................................................................................................

e

W-BTOW-accepted: acc seed tower ET>!

297




scratch/run10102112.12btowW.hist.root, page=6, Mon Apr 13 00:25:11 2009

W-BTOW-accepted: acc seed tower ET>5.00 GeV |

22
20
18

Integral

321

1800
BTOW softiD

22
20
18

Integral

328

0
BTOW softiD

22
20
18

o N A O ®

Integral

317

BTOW softiD

W-BTOW-accep

ted: acc seed tower ET>5.00 GeV

22
20
18

Integral

353

400
BTOW softID




scratch/run10102112.12btowW.hist.root, page=7, Mon Apr 13 00:25:11 2009

W-BTOW-accepted: acc seed tower ET>5.00 GeV |

22
20
18

Integral 339

2600
BTOW softiD

22
20
18

Integral 357

BTOW softiD

22
20
18

Integral 325

o N A O ®

BTOW softiD

W-BTOW-accepted: acc seed tower ET>5.00 GeV

22
20
18

Integral 383

0
BTOW softID



scratch/run10102112.12btowW.hist.root, page=8, Mon Apr 13 00:25:11 2009

W-BTOW-accepted: acc seed tower ET>5.00 GeV |

22
20
18

Integral

357

3400
BTOW softiD

22
20
18

Integral

336

BTOW softiD

22
20
18

Integral

328

o N A O ®

0
BTOW softiD

W-BTOW-accepted: acc seed tower ET>5.00 GeV

22
20
18

Integral

349

4000
BTOW softID




scratch/run10102112.12btowW.hist.root, page=9, Mon Apr 13 00:25:11 2009

W-BTOW-accepted: acc seed tower ET>5.00 GeV |
22

20
18

22

Integral

218

4200
BTOW softiD

20
18

W-BTOW-accepted: acc seed tower ET>5.00 GeV
22

Integral

367

BTOW softiD

20
18

o N A O ®

W-BTOW-accepted: acc seed tower ET>5.00 GeV

Integral

330

BTOW softiD

22
20
18

Integral

283

4800
BTOW softID




scratch/run10102112.12btowW.hist.root, page=5, Mon Apr 13 00:25:11 2009

W Btow-accept: cluster 0 <ET< 10 GeV | Entries 0 | W Btow-accept: cluster 10 <ET< 15 GeV | Entries 4177 | W Btow-accept: cluster 15 <ET< 20 GeV | Entries 2604
120 120 4 =120
o o o
° I3} °
(7] (9} (7]

X : 2 2100
a
0100 %l 15
[~ = [~
i t i
[= f= 0 [=
o 80 a 2 80
= = <=
o j=N [=N
o o o
& 60 3 & 60
n 12 "
40 40
20 20
[ : : : : : : = = ¥
1) S I P I IR PN S P 0 Ew_=s o = o = = e el
0 5 10 15 20 25 30 35 40 0 10 15 20 25 30 35 40 0 5 10 15 20 25 30 35 A
seed eta bin [-1,+1] seed eta bin [-1,+1] seed eta bin [-1,+1]

W Btow-accept: cluster 20 <ET< 25 GeV | Entries 534 | W Btow-accept: cluster 25 <ET< 30 GeV | Entries 156 | W Btow-accept: cluster 30 <ET< 35 GeV | Entries 86
120 3 +120 120 2
2 S 2t
] 3 8 3 I 1.8
n (2] - " -

a a100F O100f - -+ cheeme e T
0100 2.5 L)l()[) i & 0100_ "
[~ = =
1 1 r 1 r
(= i= r [= r
S > 5 80 4 -] T S B P L4
s s [ 2 £ [ 1.2
B B[ B
) 1.5 © 60f-- © BOf—r-emrrrser e e e 1
] 7] I ] R
r .8 [ 0.8
1 40 N 40[ 0.6
0.5 200 4 201 04
: [ 2 r 0.2
0 o ol oL
[0) 5 10 15 20 25 30 35 40 0 10 15 20 25 30 35 40 0 5 10 15 20 25 30 35 40
seed eta bin [-1,+1] seed eta bin [-1,+1] seed eta bin [-1,+1]

W Btow-accept: cluster 35 <ET< 40 GeV | Entries 30 | W Btow-accept: cluster 40 <ET< 45 GeV | Entries 25 | W Btow-accept: cluster 45 <ET< 999 GeV | Entries 38
I S S S S ! T g% i
] 0.9 3 9 b 0.9
n 12 - "

100 100 a.100|
'9 0.8 'L_) L .8 '9 0.8
1 1 I 1
(= [ = r (=
o 80 o7 2 80}- 7 280 0.7
5 oe £ [ 6 £ 0.6
el =l - el
& 60 0.5 3 60 - 5 & 60 0.5
7] » | 7]

r 0.4 r 4 0.4

40 0.3 401+ 3 40 0.3

0.2 r .2 0.2

20 20} 20

[ 0.1 [ 1 0.1
L r o ol ol o
35 40 0 10 15 20 25 30 35 40 5 10 15 20 25 30 35 40

Mon Apr 13 00:25: 1t 2009

seed eta bin [-1,+1]

seed eta bin [-1,+1]




